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Time: 3 Hrs. Marks: 100

usE SEPARATE ANSWER SHEET FOR qACH PART

PART- I
(OBJECT ORIENTED PROGRAMMING)

NOTE: Attempt any THREE out of FOUR guesfiorrs while Question No.l is Compulsory.

Q.No.1
Explain tha following terms, explaln with examples

r lnherltance

o Polymorphism
r interface

. abttract class

Q'No.2

// File Studentfevr
public class Studcnt {
ptiv*c String ormc;
privrte int rollNo;
piveta {etic itt couatStudcats = 0i

/,/ Sbaalard Scterg
public void setNemc-lSeirg nrmc) t
this.namc = namcl

)
// Notc the ".rsLing of &ss lcvtl vrdeblc rotlNo
public roid sctRollNo (ot mllNo) {

if (rollNo > 0) t
this.toffie = 1ellN6;

this.rollNo = 100;

)
// Standrd Gcttcrs
public Striog gctNamc ( ) {

rctuln oamc;

)
public int getRollNo ( ) {

rcnun rollNoi
)
// Norc thc mesking of dass larcI rnrieble rollNo
public void sctRollNo (int rollNo) {
if (tollNo > 0) {

this.rollNo = rcllNo;

this.rollNo = 100;

// Steodrtd Gettets
pubtc Suing gcBlame ( ) {

rctum nrlrc;
)
public int getRollNo ( ) {

return tollNo;
)

// Copy CoBtructo! for I oew studrot
public Studco{Studcnt s) {

nslEc = sna:Dci
rollNo = s.rollNo;

couritstudents += li

)
.L. {

l

)
dsc {

)

)
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)
// method uscd o disphy mcfiod on conrole

public void ptint Q {
Systcm'ourpriot('studcnt namc: " +name);

System'outptintln(', roll no: " +rollNo);

)
/ / oveud$ngtoStdng mcdrod of iave.lang.Obicct cLst
pirblic Stdng tostri"g$t

&tutn "aame: " * trame * ( RolINo: t' * rollNol

l
// ovcniding findizc mcthod of Obicct class

public void finalizcQ{

courtStudents -= li
)

\ //errdofclass

/ / Bile Testiava
public dass Tcst{
public static void main ptring atgs${
int numObjccts;

numObjs = Snrdcot,Be€oun6nrdenteQ;

Systcm"ourprintJn('studcas Obiccts" + numObiccts);

Snrdent s1 = new Snrdent('ali", 15);

Systcnr.ourpdntln('SnrdenB " * sl.toSuingQ)l

numObis = StudentgctCoua6tudcnts$;
Systcm,out println('studcnts Obiects" t numobiccts);

/ / Ctedngsecond shrdcot obicct & printingits vrlucs

Studcnt s2 = new Student('usman"r 49)'

Systern-out.println("Studeng " * s2)i

numObis = ShrdenLggtCouodttrdcntsQ;

Systenourprintln('snrdcne Obiects" * numObiects);

s1 = null
Sysrctn.gcQ;

numObjs = Sardent gctCountStudentsQ;

Systcm.out.println('studcnts Obiccts" + mmObiccts);

| / /ead'of main

\ //qrd of dass

Q.No.3
Create b class Song with public data ntembers singer name, type and prlce'

r Create function 'inpuf in which you take inputthrough scanner.

r Create function 'displal which display song lnformation.

call these functions from main method, Display your output.

create a Rectangle with public data member length and width.

r Create function 'input' in which you take input through scanner.

. . Create function 'area' which returns area of Rectangle'

r Create function 'perimeter'which returils perimeter of Rectangle.

. callthese funEtions from main rnethod. Display area and perimeter of Rectangle'

Q'NO.4
A)
t Create a Student class having

. Roll-Id ( String)
Name ( String)

' . 'CCPA ('Double )
. r Gendsr ( String )

' Getter I Setter

' DisPlaY( )
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* Crerte snother cla$ StudentCoutairior having

) Attributer
. Studentlist (Student[])

' NoofStudents ( Int )
! Member Functions

. Int GetNoofStudents( )

. Void Addstudent( Student studentobi)

. Void Removestudent( String rollld )

. Student Souchstudent( String rollld )
Void DisplayStudent( String rollld )

. Void GetAverageCGPAo

. Void DisplayAll( )
) Oueries

' Display all Student having CGPA greator than 3'5

' Display all Student havidg CGPA between 3'0 and 3'5

' DisPlaY all male Students

' DisPlaY all female Students

q.No.4
B)'-\irit" 

u Droqtam to show outpul given on bellow' You may run a loop.8

,i*.r. ti* iro,h6r variable initiaJize it by t and inuttiple by l0 each time

inside loop.

IU
1000
10000
100000
1000000
10000000
100o0ooo0
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. PART. II

(DATA STRUCTURE AND ALGORITHM)

NOTE: Attempt any THREE out of FOUR questions.

Q.NO.5
Apply following algorithm on the following tree

o BFS
o DFS

Q.NO.6
1. consider an irray {12,31,51,3,1s,6,33,13} and sort by insertion sort and show the

procedure step by step
?. Writethe Pseudo code for bubble sort

Q.NO.7
Given the values {2341, 4234, z83g, 430,22,399, 3940}, a hash table of size I ,and hash
function h(x) = x ttod 10, show the iesulting tables after insertin!,the values in the given iirder
with each of these coillslon strategies... . 

.

Q.NO.8
wrlte inorder, preorder, postorder traversals for the following binary tree
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v. I asked him if he

Attempt this Paper on this Question Sheet qn!v. '..:;i;;;;ri. 
"iirpat.,Division of marks is given in front of each question. \su'rqlsr

This Paper will be collected back after expirv of time limit mentioned above. '..
ta

Question 1.
Supply the correct form of the verbs given in parenthesis in the following sentences. (5x1=5)

i. He will have finished his speech before the chief . (arrive)

ii. Allthe data analysed. (be)

present in the meeting. (be)iii. The manager and coach

iv. He behaves as if he (be)

(help)

Question 2.
Answer the following questions. (5+5+5)

i. What is meant by'slanted Statement'? Explain it with the help of examples.

ii. Elaborate Semantic Barriers to communication.

iii. What is the significance of editing and proofreading in the composition of a message?

the director.

me.
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Q.t.(a) Write your selected option
of the following.

(True / False) only on your answer aheet against each
(1x{0=10)

Attempt this Paper on this Question Sheet gnlv.

tntrusion reters to confidentialitlland of data.

A server can run on workstation com

A Hub connects two different lanes.

A standard of internet is Ethernet.

The ffierytugtwork
e advantage of

i
Not all T are concerned with reliabilitY.

Answer the following short questions.

Differentiate between FDM and TDM

(5x2=10)
(b)

i.

ii. What are the different classes of lP address and its ranges'

t. Which is the error message reported by ICMP?

iv. What is ICMP attack?

What is unicast, multicast and broadcast communication'


